HZ60C HZ90C NZ90C
HZ90C/NZ90C

HZ60C

HZB0C {FxEHEH

ZBo0—

(m)

BOO

700

600

B 500

5 400
E

300

200

100}

YESRSEE (m)

HZS0C/NZ90C {EZ§EEX

BIER (LR
FE#5(m) 6 9 fe]
A5 HZ60C HZ90C NZS0C
A—=H— IN=y R NZyoZ | EHI%
7 &<t & (mm)
BA#H ES(m) 6.2m 9.2m
& 2,750 3,200
= 1,500 2,100
BEHEE(kg) 500 800
S AT A (mm)
E= 3,150 3,650
ES 1,550 2,300
=5 2410 2,550
BH=E=(kg) 2,800 5,900
57 I I
B (AL 35 80
EEY AdLyO0—7F BIdL70-—5
EmaEN(E) 30 30
e[ (FEB)E = 360 360
HEH R — — 2RBEHA
Bs R R Fup=L)

{E

® o B X

45"

iR
ﬁ BOD
&
=]

(m)
10

b &

al

N

180 7 = 0}

W

1D H {2 A
43 7 21 A

A
4

—\ZNH
—3e TV

)

el BB RS £
TV U

W EEX
N SE%

B0k
NI >

R
B0 Wi 3



ZBO0—-5

a2 U
» v HZ122C
()
E- 33
C|
T &
A =
-
W o
II‘\%%
BHiES
s
[==] [==]
(==1 (==
# #
I &
B £
T 0
r
w g
) L i HZ122C & $Ex
H Ef#5(m) 12
1 A HZ122C l
A—H— INZ TR \ i.
i 0O 7y %} & (mm) W
= BAH ES(m) 12.2m
B U Ex 4,500
2 U ' wr
] = 2,300 Q__)
~ BHEE(kg) 800 " '
#H=BET & (mm) =
K 7K E= 4,995 (G)
I 215 2,480
g w | [z 2,821 800
5 7| [EEEEke 8,500
§h I
7 (3me) 130
JEMEY) =i IV i )
g AN ETTES 30
2 hEE (TFEB)E 360
BEH 2 = “ i i
2= HEHN
B & i |
% = T }
&5 B :
H 'I]?] .".




